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QUESTION 1

Which two should be considered when enabling Application Learning in an environment? (Select two.)

A. Application Learning requires Virus and Spyware Protection.

B. Application Learning should be deployed on a small group of systems in the enterprise.

C. Application Learning can generate significant CPU or memory use on a Symantec Endpoint Protection Manager.

D. Application Learning can be used without using application-based firewall rules, Application Control rules, or
Centralized Exceptions.

E. Application Learning is dependent on a properly configured firewall.

Correct Answer: BC

QUESTION 2

A company has deployed Symantec Endpoint Protection 12.1 in their corporate environment using a multi-site design. If
an administrator makes policy changes in the United States site, when will the changes appear in the European site?

A. after the next heartbeat

B. after the next replication interval
C. immediately

D. after the policy changes are saved

Correct Answer: B

QUESTION 3

Which two instances could cause Symantec Endpoint Protection to be unable to remediate a file? (Select two.)
A. Another scan is in progress.

B. The detected file is in use.

C. There are insufficient file permissions.

D. The file is marked for deletion by Windows on reboot.

E. The file has good reputation.

Correct Answer: BC

QUESTION 4
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A Microsoft SQL Server containing a Symantec Endpoint Protection Manager (SEPM) database has encountered an
unrecoverable hard drive failure. An administrator has rebuilt the Microsoft SQL Server and has confirmed that the
SEPM can connect with the SQL Server. Which step should the administrator take next?

A. Select Rebuild Indexes from the SEPM console

B. Launch Checksum.exe database integrity tool

C. Use the Backup and Restore utility included with SEPM

D. Select Truncate Transaction Logs from the SEPM

Correct Answer: C

QUESTION 5

A Symantec Endpoint Protection (SEP) client uses a management server list with three management servers in the
priority 1 list. Which mechanism does the SEP client use to select an alternate management server if the currently
selected management server is unavailable?

A. The client chooses another server in the list randomly.

B. The client chooses a server based on the lowest server load.

C. The client chooses a server with the next highest IP address.

D. The client chooses the next server alphabetically by server name.

Correct Answer: A
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